MR.p

ELESA J& €& it

WRARRTRY F W

- WETEMEREEEPARHERSEFAAME, WER. b, @
Fig DA BCE A AL 2 A

- 2@, RAL20047 &, RALTO31%& &, fofEe, TREDHT,
IMERPER, ETREZENEAT, REARALBONEE, - Hfl
HESERMES, RLOEHy, EHERNMRTEER S, HH(©2)
WK,

- BEE N EAENER, Fkim, FAUNIKMTISO4753H %,

- BEEENEEA AW LER, RAISIS2RHHE L EE,

FRHERETHROSECE, TREFREDAGFR.
WEEFELBVITHEER, LHFRRE, RAXERENE, &
FEFHALE, MAFR, BEREEREHN 5 EEGE,

m W= dh st 1977 78 & Die gute Industrieform”™ [& 7 H Frit &,

i
-
[tal

e

AEFHANATELRBMTS, HHERARERAN TS, FU. R
EAFRUARATHFMEE ARG R HRRRF IR B S ~ "
B (AR W R BRI R T E, N7
b, BURNEREHEESENRTS TRARHRE, #ITH T
RERBE, DAMRBOTH N FM, HHEEHMIGONYHHRAT, & .
f 46 A% 411100,000% # % B4 f, |
B R X F A AR, BELESATE ¥ 41 84 . &
|t 0 T AR T A T AT SR o A £ _ | & {7

o

20°
H+

h-

L3 E |

160,000

140,000

120,000

100,000

80.000

60.000

40,000

20,000

400 450 500 550 600 650 70O N

@ [elemnnl'in“‘ “ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.



41201 | 41202 | 41204 | MR.40 p-M5x10 M5 10 15
41211 | 41212 | 41214 | MR.40 p-M5x16 M5 16 16
41221 | 41222 | 41224 | MR.40 p-M5x20 M5 20 17
41301 | 41302 | 41304 | MR.40 p-M6X10 M6 10 16
41311 | 41312 | 41314 | MR.40 p-M6X16 M6 16 17
41321 | 41322 | 41324 | MR40pMmex20 | 42 S0 18 32 365 20 6 14 12 [ s o0 | 18] 18
41331 | 41332 | 41334 | MR.40 p-M6X25 M6 25 19
41335 | 41336 | 41338 | MR.40 p-M6x30 M6 30 20
41341 | 41342 | 41344 | MR.40 p-M6x40 M6 40 21

41357 | 41358 | 41360 | MR.40 p-M8x20 M8 20 20
41431 | 41432 | 41434 | MR.63 p-MBX10 M6 10 31

41441 | 41442 | 41444 | MR63 p-M6X16 M6 16 32

41451 | 41452 | 41454 | MR.63 p-M6x20 M6 20 33
41461 | 41462 | 41464 | MR.63 p-M6X25 M6 25 34
41466 | 41467 | 41469 | MR.63 p-M6X30 M6 30 35
41470 ) i MR.63 p-M6x35 M6 35 35
41471 | 41472 | 41474 | MR63 p-M6x40 M6 40 36
41501 | 41502 | 41504 | MR.63 p-M8x16 M8 16 34
41511 | 41512 | 41514 | MR.63 p-M8x20 M8 20 35
41521 | 41522 | 41524 | MR.63 p-M8x25 C R E R
41531 | 41532 | 41534 | MR.63 p-M8x30 M8 30 39
41526 | 41527 | 41528 | MR.63 p-M8x32 M8 32 40
41535 | 41536 | 41538 | MR.63 p-M8x35 M8 35 41

41541 | 41542 | 41544 | MR.63 p-M8x40 M8 40 43
41551 | 41552 | 41554 | MR.63 p-M8x45 M8 45 45
41561 | 41562 | 41564 | MR.63 p-M8x50 M8 50 47
41569 | 41570 | 41572 | MR.63 p-M8x60 M8 60 51

41597 | 41598 | 41600 | MR.63 p-M10x40 M10 40 52

42182 | 42183 | 42185 | MR.80 p-M8x70 M8 70 85
42196 | 42197 | 42198 | MR.80 p-M10x16 M10 16 70
42201 | 42202 | 42204 | MR.80 p-M10x20 M10 20 72

42211 | 42212 | 42214 | MR.80 p-M10x25 M10 25 74
42221 | 42222 | 42224 | MR.80 p-M10x30 M10 30 77
42216 | 42217 | 42218 | MR.80 p-M10x32 M10 32 78
42225 | 42206 | 42228 | MR.80 p-M10x35 M10 35 80
42231 | 42232 | 42234 | MR.80 p-M10x40 M10 40 82

42241 | 42242 | 42244 | MR.80 p-M10x50 M10 50 87
42245 | 42246 | 42248 | MR.80 p-M10x60 M10 60 92

42251 | 42252 | 42254 | MR.80 p-M10x70 M10 70 97
42301 | 42302 | 42304 | MR80pMi2x20 | 80 92 28 54 595 45 10 22 19 [fMv4o o0 | 24| 76
42311 | 42312 | 42314 | MR.80 p-M12x25 M12 25 80
42321 | 42322 | 42324 | MR.80 p-M12x30 M12 30 84
42325 | 42326 | 42328 | MR.80 p-M12x35 M12 35 88
42331 | 42332 | 42334 | MR.80 p-M12x40 M12 40 92

42335 | 42336 | 42338 | MR.80 p-M12x45 M12 45 92

42341 | 42342 | 42344 | MR.80 p-M12x50 M12 50 100
42351 | 42352 | 42354 | MR.80 p-M12x60 M12 60 108
42361 | 42362 | 42364 | MR.80 p-M12x70 M12 70 116
42365 | 42366 | 42368 | MR.80 p-M12x80 M12 80 118
42381 | 42382 | 42384 | MR.80 p-M14x40 M14 40 153
42601 | 42602 | 42604 | MR.100 p-M12x30 M12 30 138
42651 | 42652 | 42654 | MR.100 p-M12x50 M12 50 150
42701 | 42702 | 42704 | MR.100 p-M12x70 M12 70 162
42801 | 42802 | 42804 | MR.100 p-M14x30 M14 30 142
42805 | 42806 | 42808 | MR.100 p-M14x35 M14 35 147
42831 | 42832 | 42834 | MR.100 p-M14xs0| 100 M4 33 65 705 53 12 25 25 Imis 50 | 2° | 162
42851 | 42852 | 42854 | MR.100 p-M14x70 M14 70 182
42901 | 42002 | 42904 | MR.100 p-M16x30 M16 30 149
42951 | 42952 | 42954 | MR.100 p-M16x50 M16 50 177
42981 | 42082 | 42984 | MR.100 p-M16x70 M16 70 205

* BAERAT T H 52

FL

IE

FEMERGEPH —THE: 6. BEAFKE,

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source

when reproducing our drawings.

‘elesa+BANTHR




